log[sensitivity]

logVo = —0,35[1—Uss72
logVa= logV,+0,00
log [Va La M¢]

|OgL0 = —0,35[.,1)\—U570]Z
logM o= —0,35[1)~Us.:]2
logLa=logLo-0,19
logMa=logM+0,24
Ra

U=(A-550)/50

log[saturation]

l0gVo = —0,35[1,~Uss7?
logVa=
log [Va/Vo, LaVo,

logLo = —0,35[)—Us7q)*
logMVo= —0,350)~Us.:]?
logLa=logLo-0,19
logMa=logMo+0,24
Ra saturation V

logVo+0,00

adaptation

L0=-0,35 La=-0%
V0=-0,55 Va=—0,%
M0=-0,79 Ma=-0,%
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|OgL0 = —0,35[.])\—1.]570]

logM o= —0,35[1)—Us.:]2

logLa=logLo+0,07

logVl2= log M -+0,07
u,=(A-550)/50

log[saturation]
l0gVo = —0,35[1,~Uss7?
logVa=
log [Va/Vo, LaVo,
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logMV2=logM-+0,07
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